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1.

SECTION-1
Qus -1
CHILD DEVELOPMENTAND PEDAGOGY
o o wa fremene
There are 30 questions in this section.
All questions are compulsory.
THEUSH FT 30 T E |
ity AfaE T

According to Jean Piaget a child in formal operational stage is -

(A) capable of abstract, hypothetico deductive and propositional Thinking
(B) Are bound by centration and inversion of thought

(C) Cannot conserve, classify and seriate

(D) Begin to engage in make-believe and Symbolic Play

St TSt 3 STER e STu=ies disharcTes sTewen H-

(A) 319d we ufipfeua dfcheran oiR wfaafa foia e o el 7 |

(B) =Tl Ta STGRAI 9§ 315 B |

(C) T&vT, TTTRT0r & Fuliegal hid H Herm e § |

(D) FefehIceh 3T Tichfash Sl H T oF1 IR i € |

While writing, a child uses his whole plam before using his fingers. This process reflects which principle

of development.
(A) Specific to General Progress (B) Cephalocaudal
(C) Proximodistal (D) Irregular progress

fore T foreht seten 510 9 = Ui 9 gehe & faw Snfal & 3wt | qd o7 q¥ 31 o 9N forehr
foret fogia =1 frefia sar 8 -

(A) fafere & amr= wraEt wifa (B) fatheirerigat wfd

(C) Mfreeifeea W (D) s i
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3.

According to Urie Bronfenbrenner, social customs and cultural values are example of which of the

following ecological system-

(A) Microsystem (B) Mesosystem

(C) Exosystem (D) Macrosystem

T S TSI o AATTER HHITSToR YeTd Ue Tieahfaeh Ted siiersh o fohd wifeerfen 7 o 3SR ¢ -
(A) THHISA (B) megqmuEd

(C) s Hvea (D) Feq Hved

Which of the following represents a characteristic of gifted child.
(A) Lacks reading fluency

(B) Can think of original solutions

(C) Tendency to get distracted easily

(D) Ability to learn quickly and independently

frofafag o T gt fodar tew gfaummet s i § -
(A) &R0 oI wg H Rt

(B) TiifcTeh THIEM! o o H W= S &7

(C) Tt & foa=ferd 2 ot oTed

(D) 3Tl Ta T €9 9 WG &l IR

A person states his morality according to prevailing current social norms,rules and regulations. which of
the following is his level of morality as per Lawrence Kohlberg -

(A) Pre Conventional Level (B) Conventional Level

(C) Post Conventional Level (D) Non Conventional Level

FreAsn o ATAR fes T o T T sraen food @ = stot Afaerar 6 adam | yafaa amfss
ST 312 i 3 STTE Sfehar 7 i AfdehaT ol SIFET TR FET TR -

(A) g8 TR ®R (B) T &1

(C) ¥ TR &R (D) TR TLITa WX
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6. Which of the following is not a process through which meaningful learning occurs -
(A) Repetition and Practice
(B) Instruction and Direction
(C) Exploration and Interaction
(D) Memorization of facts and Rote learning
Frofafed o we ge ufsren =t & oo grr srefqof siferm =afeq dar g -
(A) T T o7
(B) frewr wdl gimer
(C) TREfih foer famef wa srarmm

(D) qeAi <l L1 TH hUSE Rl

7. Choose the incorrect statement -
(A) Human life begins with one single cell zygote.
(B) Gene 1s unit of heredity
(C) Heredity is an environmental reason which influences development
(D) Mendel 1s known as father of heredity
Freferiad el H | T e o =g hifs -
(A) TG STte 1 3T eld: Th Y IOl 9 Hfed 2 ¢ |
(B) ST 1 TSRl <kt FohrE HIAT Tl € |
(C) TFa faehrar o1 Y1 hi AT ST Ueh SIAeRvid R ¢ |
(D) HUSH I ST 1 SH% HT I € |
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8.

10.

Y

Initiative v/s Guilt stage of Psychosocial Development by Erik Erikson is related to which of the following

stage of development.

(A) Infacy (B) Pre Childhood

(C) Later childhood (D) Adolescence

TREEA % TS fHgia ot STereel Tgel S STIUH sivel i Haiel forehm Yt o sTaren | T T ekl 8-
(A) JreraTaEen (B) I8 ScamerEe

(C) S =eAmaE (D) feReiRrereen

Which of the following is not a characteristic of learing -

(A) learning makes relatively permanent changes in behaviour
(B) Learing 1s a continuous and acquired process

(C) Learning is always observable from outside

(D) Learning includes an experience in itself

rferTe ot forsrea gl ¢ -

(A) T & =aeR § 2 aTel IRed Tieshd Tt 21d ¥ |
(B) 31T ek Teq U efsia uiRar ¥ |

(C) =t weet siTey it e € |

(D) 21T B Ueh YR 1 ST We WiHAfed waT ¢ |

Highest stage of learning according to Robert Gagne 1s -

(A) Concept Learning (B) Problem Solving
(C) Chain Learning (D) Signal Learing
o T & T7aR AT o waife 'R T -

(A) T At (B) THE HHIEM
(C) 5@t e (D) Hehd SAfeRTH
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11. Math the following and find correct answer.
List -

(Psychologist)

(a) Cattel

|

(b) Spearman

(c) Gardner

(d) Sternberg

Code :

(A)
(B)
(©
(D)

[NCRE ]

1

2
2

3
4

() Y

List - 11
(Concept)
1. General and Specific factor
2. Fluid and Crystallized Intelligence
3. Triarchic Theory of Intelligence
4. Multiple intelligence Theory

4
3

GAt-1 o P-11 & ghfad i ge o) Fe/3T & == hife-

=1

()

(a) R

(b) Tt i

(c) e
(d) T =t
%< 2

(A)
(B)
(©
(D)

[NCRE ]

gaAi-11I

(I9=)
1. HMEM TE foRIY Rk
2. FfIe wd frearsse g
3. 95 *1 erEenfhe fagia
4. sgdfg fagia
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12. Which of the following is a symptom of dysprexia-

13.

(A) Difficulty in understanding alphabets

(B) Difficulty in mathematical calculations

(C) Difficulty in holding pen and writing

(D) Difficulty in pronounciation of words.
Frafafed # | S fesifammn & Aol § 9 T 8-
NERRIESEER RS |

(B) T TOMT R | HHE

(C) T FaTq Tehs AR foray o o

(D) AT % SR hi THAT

A 17 Year old woman has been binging in large quantities of food, above and beyond, what most people
would eat under similar circumstances. She then engages in purging behavior as often as 3 or 4 times a
week. she feels she has no control over it. The results of her physical examination are normal and she is
normal weight.

She is most likely suffering from -

(A)Anorexia nervosa (B) Bulmia nervosa

(C) Bing eating disorder (D) None of these

Tk 17 I <! Higel FH aRfeta H stieepian <l 510 @y T SIS & Ak ST sifewrs 7 # JisH il wdl
€ 1 3HF A% 98 WH: HHE H 3 AT 4 IR A 32! L dl ¢ | 98 W™ Ll ¢ Toh 389 W SHehl 0 = ¢ |
3T Wi Site % g ar € iR as off T |

Afees e § o o fafafea 9 o= @ -
(A) TARfrE= At (B) sffcfian aiten
(C) fars-zfem fegatisx (D) T8 | FFE T

P.T.O.
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15.

) Y

Choose the correct option from the following list.

List -1 List - 11
(Event) (Psychologist)
(a) Observation Learing 1. Skinner
(b) Cognitive Map 2. Vygotsky
(c) Association between different Stimulus 3. Bandura
(d) Learning Leads to Cognitive Develoment 4. Pavlov
Code :
a b C d
(A) 2 1 3 4
(B) 3 1 4 2
(©) 3 4 1 2
(D) 3 1 2 4
Gei-1 w1 Gei-11 9 Gaferd id g¢ HeEl e/t i =G whifsie-
-1 -1
(¥ (TR
(a) Gegor SAferH 1. T
(b) HHTHS HH=E (Cognitive map) 2. ATcEh!
(c) o= 3SEITT 1 = 3. AU
(d) SfeRT T foshr i 3TR o ST 2 | 4. QAT
%< 2
a b C d
(A) 2 1 3 4
(B) 3 1 4 2
(©) 3 4 1 2
(D) 3 1 2 4
Which one of the following is not a correct way of stimulating creative thinking ?
(A) Brain-Storming (B) Keep a diary
(C) Mind-Mapping (D) Offer Money
frroferfaa o | -9 Tk gorrce Toa i Yicdied i ol Tet el T2 & -
(A) -T2 (B) Sl W&
(C) nikeh gfcehidentor (D) & Rl Y&TE T&HT

P.T.O.
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16.

17.

18.

19.

From among the following who theorized mostly on the concept of 'Achievement Motivation'-

(A) Rogers, C.R. (B) Julian Rotter ~ (C) David Mc Clelland (D) Victor Frankl
o o 9 fore ‘ Suafes stfriwon’ & dyerd fagia fwion w stfeenierd: e e -

(A) 5, Ht 3R (B) SIfera WX (C) Sfore Hamttervs (D) foraex Thehe
Bandura's social learning theory had the main focus on -

(A) Moral emotion (B) Moral Reasoning

(C) Moral Behaviour (D) Moral Emotion and Reasoning
SMUGY % TSI STferm fagia o1 TE F=5 ? -

(A) Afaes damT (B) Afqsw ah

(C) e TeR (D) fereh wiarm 7k

According to NCF 2005, what is proper way of evaluation of students of class 1 & 2-

(A) By written examination (B) By oral examination

(C) By both oral and written examination (D) By observation

TAHT. TH 2005 i Wi o ATHR, HE Tk o HEl < o fonieai o fae geaish s e 21 =1ieq -
(A) faflad adieron & TR 91X (B) HifEeh &0 & SR W

(C) faafiea wd Hiftash wiieor o SR W (D) J&IT % STEN T

According to NCF 2005, what comments have been made on textbook in systematic reforms section?
(A) Text book selection and writing must be given to one subject expert

(B) Only feedback of teacher should be considered while preparing textbooks

(C) Libraries should be shared between different schools

(D) All of the above

T IISI= bt S9N 2005 F ST=Id ATHITG GoRi H WSTq&deh i weht a1 fewuit o 7 ¢ 2

(A) TISIIET Tl =97 Ta o TRl Tk o foriorat &1 o1 =g |

(B) TSI ST H 3TEATIh 1 &1 Thigsidh ol ST =fe T |

(C) fafel Thedl o Hed GEehlerdl shl | fohal ST =T |

(D) 318 | a4l

P.T.O.
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20.

21.

22.

23.

First stage of Action Research process -

(A) Formulation of Action Hypothesis (B) Action Programme

(C) Identification of the Problem (D) Defining and Delimiting of Problem
fohaTcHe STTH T WfoRa T JoH =R § -

(A) Tsrarerer qferedT o o (B) 9 ki fsharaa

(C) 991 &t T8 (D) 1 Shl GRS T Hidieh

According to RTE 2009, minimum teaching hours at Upper Primary Level are -

(A) 800 Teaching hours (B) 1000 Teaching hours

(C) 1200 Teaching hours (D) 1500 Teaching hours

e =1 SRR srfarfrem, 2000 # T Aaforr a6 § 3= Mefies TR W fRa Aa Aefires wuel w1 S
o T E -

(A) 800 Taregur Hyue (B) 1000 frefor s

(C) 1200 TRregor =ue (D) 1500 Tereror Hroe

A test formulated to test the developed skill and knowledge of child is called -

(A) Diagnostic Test (B) Achievement Test

(C) Sociometry Test (D) Norm Reference Test
foremefl % forsmfa shivre qem I ol T FEAw © -

(A) TeTen Tl (B) SUcTs qteqor

(C) TSI T (D) |k Tad qer

Many commissions have recommended increasing of internal exam so as to reform education because -
(A) They are more impartial. (B) They are more Legitimate and reliable.

(C) They evaluate all aspects. (D) This evaluation is neutral.

e T goR o forg fafve sTreimt 1 fawRel § sTiaies Sl i e sigH @i Fawmist i 7. 2 Fiifh TR
-

(A) 3TfireR Fraer St 2 1 (B) =1freh 9 wal fovaa g gt 2 |

(C) Teft Tedl ol Jeioh il ¢ | (D) 9% Yeaish T BT ¢ |

P.T.O.
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24.

25.

26.

Choose the incorrect statement with respect to psychoanalytics given by sigmund freud.

(A) Id deals with immediate gratification of primitive needs and sexual desires.

(B) Analysis of forgetting, mispronounciation and jokes provide us with a means to approach the
unconscious.

(C) Defence Mechanism given by freud is a way for Id to deal with the uncomfortable feeling Produced
by anxiety

(D) According to freud, the core aspect of personality are established early and remain stable throughout
life.

TS 6 FAIIRCITUTEs o Sae o 378 o ¢ -

(A) 35U 1 Gaiel AH i A STavarshareil R wH=sei 4 |

(B) faemvn, 3135 S=IRvT, ATk 1S 3T qeh Ug = o1 | T |

(C) WIS G 9gH & BT giveal gRI Scuel STfIEISHE A6t & 30 % sidiel P i alehl ¢ |

(D) T % 3TIHR Afhd % AT vt TR T Tenfd 21 9 § 2R s wof=q feer o wa € 1

Choose the incorrect pair -

(A) Sheldon . Classification based on Physical Structure

(B) Spranger  : Classification based on Social Attributes

(C) Hippocrates :  Classification based on Psychological Features
(D) Canon . Classification based on Endocrine Glands
Tgafer Sifed -

(A) Seed : VReR G % STER W SRR

(B) BI=R : WIS TON o STER T SR

(C) feudishe®  :  TIGRAATR TN o STER T SRl

(D) & ;A el TifeRl o STTER IR SRl

How many cards are used on a single person in Thematic Appreciation Test.

(A) 30 (B) 20
(C) 10 (D) 5
T stremeter adteror H Tk Afe W o foha 1S T H o1 § -
(A) 30 (B) 20
(C) 10 (D)5

P.T.O.
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27.

28.

29.

30.

Which of the following is a demrit of verbal Group Intelligence Test -

(A) There are possibilities of cheating in these test.

(B) Examiner feels diffculty in control and management while administering these tests.
(C) Examiner does not get time to get acquainted with one personal feelings of examinee.
(D) All of the above

Frfafaa § § wniss arfes Tig FIav e -

(A) 39 &I01 H Tohe bt HTeHT o1 et ¢ |

(B) 39 wdteror & qdtersh gRT YieH o o7 § srgfasn S ¥ |
(C) wrgfeen aderor § el sl it sramrsti & aRfed B 1 ST 81 fHeran |

(D) 39 |+t

Which of the following is not direct method of adjustment.

(A) Sublimation (B) Rationalization
(C) Repression (D) None of the above
TS i Y4 g 181 § -

(A) ST (B) UE=RLT

(C) = (D) 374 & hrg T

Which of the following is not a reason behind child deliquency -

(A) Strict Discipling by Parents
(C) Facing physical and Genetic defects

(B) Organizing co-curricular activities in school.

(D) Poor economic condition

frofafed o & a1a sTo 1 wRo T § -

(A) T faT R SR STIRITEH (B) forenera # g ifaer Tfafafem s e
(C) YRRt & STaifeeR 2 § ufid g (D) HSIR e feafa

Individual Differences can be studied by -

(A) Achievement tests (B) Personality tests

(C) Aptitude Tests (D) All of the above.

BT =TT 1 3122 fohan ST Hehal & -

(A) 3qafsd qder g (B) Sfhe T8eIm 510

(C) et wdem gr (D) 37 @t

P.T.O.
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31.

32.

33.

34.

35.

(14) Y

que -1
e - 1
fe=t
THEUSH FT 30 T E |
[ty AfEE ¥ |

frder: Freafafaa Terier o MR WX U9 |& 31 | 35 Ak oh 3T alfau-
- gafad STamR! 2R Siehrstl % rem | YR % UTEH HeThed- JHE IR TRIRA iR 3177 Ty off
ST o S Q-G Ak UG & | T HSAT, el 3R STehT ek 372, e e T 3ifohd o oIR 397 3% 99§
3R T M1 o1 | 3T9E UTHT ol Tehel UG A1 & SR 3T Sa=id 3 QR o SR a1 1 3¢ 35 d i
& =1 TR foprelt T=iie T o gfera forelt Wt spamit ot Sooia i & Fad g ek 3uewr fekaran 211
JoTRE 1 it % Tt o oI o Wiefi-Tdt s 1 3 g < ST 39 g 1 Aifg fesh g o o d g9t
TR g AT BT o1 | Afg 1 79 o forfaa sfagm oI e giafeea aei & faftfq aeefill o «er ot

@ Y wegy foran foh o1ue foram & o § off e oTo aEelill o eR B |
"R H W © -

(A) T (B) AU

(©) f57 (D) Sigsitet

" YIsg kT Wit fa=ee BT

(A) TH + 31 (B) THI + 3701
(C) T + 3197 (D) T + 3T
= 3 9 pr-w v yoag @ a7

(A)‘cﬁiﬁfaﬁ (B)T\Fﬂ'\@ﬁ
(C)rve (D) e

e 8 e fadim g ad T 2

(A) Afaeh - 31l (B) <BTdT - T
(C) U= - 8= (D) T T T |
et o 9 e Sifdar=es g3 T8

(A) HETHId (B) T@wdt

(C) Uiy (D) U™
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36.

37.

38.

39.

40.

41.

42.

43.

(15) Y

frder: Freafafaa Terier o MR WX U9 |& 36 | 39 Teh oh 3T alfau-

TR TR Ypia it Fordra Far T ¥ | Fet Tl gy 319 THE T 3 € @I qat et d%k SEidl 1 5Rqu ST
TR Wel-Thell BT G FRAT § | 4T TR a6 % U AIFER F HR0 o7 T TR 21 S | 981 Hw
TR femer shferai oh1 Ta1 & IR0 a1 371 @1 § 7R 9T i Afeal Hieiariont qel Sl W E | =1 i ou
3R AT T ATl &1 Ul | TR BATHY SiTe § @1 T8 hid ¢ | J&il | I <A1 Uk enfHeh bl e
T 1 SR == v e SR Afafaes wef § gy oe S g

RETReRdl W g Tehfa B fodie =it feam o © | Rt S § 9 ot STUeT ST b STfiek me e e
T | TAfCTT SHR IR Aehr A1eehl ot e € 1 atfafer s oft o A mn §- ¢ erfafer e s’

e 7§ e wisg © foreeRt 3= steran foi foredt oft uRRfRefa # 7@t agaar-

(A) *g (B) Jer

(C)3d (D)

e B O sl visg SAfeT | o1 a B

(A) THfd (B) 71

(O)*g (D) Tt

"R HAT ST § A S I 9 1" SR H hiE e ¢ |

(A) TH 9d (B) 3T a0

(C) ot ¥ (D) 31qef ¥d

A IR =% <9 T 3R Afafaer sl o 3 91 S € | Eifond ves o 3T B
(A) T feranm ST aren (B) Tt 9 fokarn ST e
(C) T &t aren (D) frardi | foran St aren
"1k T SIST TS TRY T ol el 1§ 1" ot T e v o1 forar 2-

(A) STk 1 el 4T GIEERE

(C) el T & (D) =1 TS Th

3¢} T SR T 1 A 9E T € |

(A) pareieh o1 (B) s=o1eieh ol

(C) Feeneien e (D) Tast s

" T T TS T w37 §-

(A) ot Ifg TR ST (B) FT &1 YT 7iet €1
(C)=8d TR & (D) 9T 1 TS BT
1 B 9 b T 2

(A) I 3TeR 9 TR (B) T R 4 SR

(C) S =TT =il (D) ST T 1T BT
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44,

45.

46.

47.

48.

49.

50.

51.

(16) Y

SR oA § -
(A7 (B) : -
O = (D) /

"IN HETd HT aTcd 31T 3 AT HH o1 T | ifehd ISsir € |
(A) T ygsie (B) T UgSY
(C) G Y=Y (D) fshar qgsie

"I T ST TRl T ST Aeie o T e €

(A) ST<TeRe (B) 3T=IRek el
(C)afeshe (D) 3=
e o 9 e o wss e R

(A) b (B) a1

(C) Tt (D) =
FATTH | fAG T ... YT EaTe |

(A) = ferar (B)y&d

(C) 1en ferem (D) fem =R
.............. UG SFell-sheq TRTeqor Y SRTE Tamea W &iel <l & -

(A) Sleed (B) HIveHd

(C) Tt A (D) SR

e foreror # wrserel e e i fafar -

(A) SgaeA fafy (B) = fafr
(C) gerae fafy (D) @ver=d fafy
I 2 hl e -

(A) Torer IIfg A1 STeReT— AN 3TTRaT

(B) freror ufshan 3 SR STRheH- T STTha

(C) 3T % ToTT, SATheT - HRIRICHE TR
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SECTION-II
LANGUAGE-1
ENGLISH
There are 30 questions in this section.
All questions are compulsory.

Direction (31-35) : Read the passage carefully and answer the questions that below:

Kashmir has been called the " Switzerland of india". It is a curious country shut in all sides by rocky
mountains. The scenery is so beautiful that the visitors from all parts of the world are attracted by it.
Through the chief of its valleys flows the Jhelum. This valley is so charmingly beautiful that it has long
had a world - wide fame. The great Moghuls used it as their summer residence and called it " The Heaven
of Earth". The air is sweet with the perfume of many miles of roses grown for making 'attar’ of roses, the
most costly performe of world. On the higher parts is reared the Kashmir goat, from the hair of which
are woven the costly shawls of Kashmir. It has a thick growth of forests, fruit trees break in clouds of
blossom and bend under luscious burden.

Which of the following words is a synonym for 'Fame' ?

(A) Popularity (B) Vitality

(C) Notoriousness (D) Visibility

The antonym of 'Heaven' is.
(A) Paradise (B) Hell
(C) Salvation (D) Sanatorium

Which of the following is correctly spelt word ?
(A) Expensive (B) Expansive
(C) Expansve (D) Expenseve

The verb 'Grow' can give us the noun....
(A) Grown (B) Growl
(C) Growth (D) Growable

Find the correct one word for the phrase given below-

' People visit distant areas for entertainment'.

(A) Moghals (B) Refugees
(C) Visitors (D) Beggars
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Read the passage carefully and answer the questions that follow :

Monika was very happy when she got a nice house in an area near her place of work. But her happiness
was short - lived. Her maid-servant began to bring some rumours of theft and other horrible
happenings in the neighbourhood. Since monika was alone in that house and still a stranger to the
place she decided to call her brother to come and stay with her for a few days. But he was very busy
with office work to be able to spare a few days leave. So, Monika became very nervous. She did not
know what she would do if any wrong happened. So, she took special care to hide her keys. Every
night she hid them at a different place. Her memory was very poor. She was afraid lest she should
forget where she had placed then. She also has an alarm fixed near her bed so that she could use it in

case of emergency:.

Which of the following options is an example of 'Distributive adjective' ?
(A) Every (B) Where
(C) Her (D) That

'Since Monika was alone ..........
The underlined verb-'was'is an example of.

(A) Modal Auxiliary verb (B) Verb in simple past
(C) Copulative verb (D) Verb in past perfect

In the phrase 'Some rumours of theft' the determiner used is....
(A) Some (B) Of
(C) Rumours (D) Theft

Conjunctions in the passage are.
(A)But, and (B) Still, to
(C) So, very (D) So that, of

The three degrees of the adjective 'happy' in their correct form are.
(A) Happy, More happy, Most happy

(B) Happy, Happier, Happiest

(C) Happy, Happier, Most Happy

(D) Happy, More happy, Happiest
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Which of the following sentences has the correct structure of question ?

(A) Had deposited you your amount ?
(C) Had you deposited your amount ?

(B) Had your amount you deposited ?
(D) Had you amount deposited your ?

The passive voice form of the sentence - 'Tknow him'....

will be.
(A) He 1s known by me.

(C) He was known to me.

(B) He has been known by me.
(D) He 1s known to me.

The indirect speech form of the sentence - Sita said to me,

" Can you give hermy pen ? "
(A) Sita asked me can 1 give her my pen.

(C) Sita asked me 1f 1 could give her her pen.

(B) Sita asked me if 1 can give you my pen.

(D) Sita asked me if 1 give her my pen.

Which of the following underlined sound 1s different ?

(A) Kite (B) Light
(C) Bite (D) Slim
English language sounds are classified into....

(A) 05 vowels and 21 consonants

(C) 24 consonants and 20 vowels

Principle of selection doesn't include....
(A) Frequency
(C) Testing

Bilingual method was invented by....
(A) Dell Hymes
(C) GA. Bright

The best order for learning English language is....

(A) Listening, Speaking, Reading, Writing
(C) Listening, Speaking, Writing, Reading

(B) 21 consonants and 21 vowels

(D) 20 consonants and vowels

(B) Range
(D) Coverage

(B) C.J. Dodson
(D) F.A. Billows

(B) Speaking, Listening, Reading, Writing
(D) Writing, Reading, Speaking, Listening
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Which maxim is not followed in the principle of teaching ?
(A) Known to unknown (B) Deductive to Inductive
(C) Simple to complex (D) Concrete to abstract

The number of graded structures in structural situational approach are-

(A) 75 (B) 275

(C) 175 (D) 375

'Syntactic' is the term used to refer to-

(A) The study of sounds (B) The study of meaning
(C) The study of structures (D) The study of grammar
Dictaphone and linguaphone are -

(A) Audio- visual aids (B) Audio aids
(C) Visual aids (D) None of these

Who gave the concept of formative and summative evaluation?
(A) Michael Seriven (B) Dell Hymes
(C) Noam Chomsky (D) F.A. Billows

Which of the following is not included in emotinoal skills under CCE ?
(A) Reduction in fear (B) Increase in learning

(C) Increase in empathy (D) Reduction in anger

The test based upon memory, previous knowlege and experience is....
(A) Diagnostic Test (B) Introductory Test
(C) Recall Type Test (D) Co-Scholastic Test

The assessment carried out at the end of a course is....
(A) Formative assessment (B) Summative assessment
(C)Both'A'& 'B' (D) None of these
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In the modern educational pattern, evaluation is a process.
(A) Monopolar (B) Tripolar
(C) Bipolar (D) Multipolar

Which one is not a technique of formative assessment ?

(A) Portfolio (B) Anecdotal record
(C) Cumulative record (D) Pen - Pencil test

In inductive method we proceed from -
(A) Complex to simple (B) Rule to example
(C) Simple to complex (D) Poetry to prose

The structural approach stresses on the importance of....
(A) Spelling of words (B) Vocabulary
(C) Fluency (D) Sentence structures
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SECTION-III
LANGUAGE-1I
ENGLISH
There are 30 questions in this section.
All questions are compulsory.

Direction (61-65): Read the following passage and answer the questions.

It is not luck but labour that makes man. Luck, says an American writer, is ever waiting for something to
form up ; labour with keen eyes and strong will always turn up something. Luck lies in bed and wishes the
postman would bring him news of legacy ; labour turns out six and with busy pen and ringing hammer lays
the foundation of competence. Luck whines, labour watches. Luck relies on chance, labour on character.
Luck slips downwards to self indulgence ; labour strides upwards and aspires to independence. The
conviction, therefore, is extending that intelligence is the mother of good luck. In other words, that a
man's success in life will be proportionate to his efforts, to his industry, to his attention to small things.
Which one of the statements is true about the passage.....

(A) Luck 1s necessary for success.

(B) Success depends only on hard luck.

(C) Expectation of good luck always meets with disappointment.

(D) Success 1s exactly proportionate to hard work.

Which one of the following is the most appropriate title for the passage ?
(A) Luck always favours. (B) Hard work is the key to success.
(C) Intellligence against diligence. (D) Competitive strategies.

In the above passage ' Therefore' indicates....
(A)Addition (B) Result
(C) Emphasis (D) Reason

"It 1s not luck but labour that makes man."

Find out the linking device in the above sentence.

(A) Labour (B) Luck
(C) But (D) Not
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Luck relies on chance but labour
(A) Rely (B) Do not rely
(C) Relies (D) Does not rely

Direction (66-68) : Read the poem carefully and answer the following questions :

"O young through all thy immemorial years !
Rise, Mother, rise, regenerate from thy gloom,
And, like a bride high - mated with the spheres,
Beget new glories from thine ageless womb !
Who will buy these delicate, bright

Rainbow - Tinted circles of light ?

Lustrous tokens of radiant lives,

For happy daughters and happy wives."

The rhyme scheme of the first four lines of the poem is.

(A) abab (B) abbd

(C) abed (D) abba

"Rise, mother, rise regenerate from thy gloom." contains an example of.
(A) Simile (B) Metaphor

(C) Alliteration (D) Pun

In line no.03, we find an example of -

(A) Simile (B) Consonance
(C) Metaphor (D) Allegory

Assonance 1s :

(A) Repetition of consonant sounds

(B) Repetition of vowel sounds in closely associated words
(C) Repetition of both vowel sounds and consonant sounds
(D) None of the above

P.T.O.
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70. " Truth sits upon the lips of dying man". is an example of -
(A) Simile (B) Personification
(C) Allitreration (D) Pun

71. Anomalous finites are :

(A) 24 (B) 13
O n (D) 22
72. Godbless Monika with a daughter ! (Prayer)
Fill in the blank with the appropriate modal.
(A)Can (B) Might
(C)May (D) Should

73. Find out the incorrect statement.
(A) Drama 1s the representation of the action on the stage.
(B) Drama 1s the presentation and performance of plays for the theatre.
(C) A drama has a plot, characters, dialogues and an outlook on life.

(D) A dramatist speaks through his characters.

74. Petrarchan sonnets are in the form of :

(A) Three quatrains and a couplet (B) An octave and a sestet
(C)Both'A'and 'B' (D) None of these
75. Ancelegyis:
(A) Amourning song (B) Areligious song
(C) Ajoyous song (D) A spiritual song

76. The full form of IPA is-
(A) Italian phonetic Association (B) Indian Phonetic Alphabet
(C) International Phonetic Alphabet (D) International Police Association

P.T.O.
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77.

78.

79.

30.

31.

32.

3.

(36) Y

The first sound in the word 'Psychology’ is transcribed as -
(A) /p/ (B) /s/
(C) /ai/ (D) /a:/

Which is the correct transcription of the last sound in the word 'to' ?
(A) v/ (B) /o/
O n (D) ha:/

Pick out the correct transcription of the word 'English' :
(A) /ngllf/ (B) /Inglls/
(C) Mingllf/ (D) /Iylls/

Which of the following is the correct transcription of the word "Vowel' ?

(A) /VDVAI/ (B) /vaual/
©) /va:VAl/ (D) /VDVal/

Which is the latest and recent approach of teaching English ?
(A) Structural Approach

(B) Communicative Language Teaching (CLT)

(C) Situational Approach

(D) None of these

The role of teacher in 'CLT"1s -

(A) Instructor (B) Commander
(C) Facilitator (D) All of these
'A home language'is a language.

(A) Family (B) Alien

(C) Target (D) Rural

P.T.O.
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34.

35.

86.

37.

38.

89.

90.

37

The term 'Multilingualism' gives stress on :
(A) Academic Process (B) Socio - Cultural Process

(C) Professional Process (D) Thematic Process

A class VI student makes mistakes in spellings. As a teacher, you would
(A) Avoid the mistakes

(B) Say him/her to consult a dictionary

(C) Show him / her his mistakes and ask to write and pronounce again.

(D) Ask him / her to speak / write another spelling.

'Remedial Teaching' is given to.
(A) Slow learners (B) Extra-ordinary learners
(C) Average learners (D) None of these

The usual procedure of 'Remedial Teaching'is.
(A) Teach —» Test — Re - Test
(C) Test —» Teach —» Re - Teach

The most reliable questions are :
(A) Essay Type (B) Objective Type
(C) Short Answer Type (D) All of the above

A learner is promoted on the basis of :
(A) Formative Assessment (B) Remedial Teaching

(C) Summative Assessment (D) Diagnostic Test

Continouns and comprehensive evaluation stresses upon :
(A) Teacher centered education

(C) Curriculum centered education

(B) Test —» Teach — Re - Test
(D) Teach —» Test — Re - Teach

(B) Learner centered education

(D) Direction centered education

P.T.O.
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61.

62.

63.

64.

65.

(38) Y

©us - 111
HET - 11
HEhH
373 5o g i |
Td YT THIER: |

frder: sreifeiad Tenem et 61 A: 65 W= WY THISAT: -

TRATSH T4 : T34 : ARATSE JaTq: S 1 Jo | TS T Teronyar 56 e S 7 ST haa | 37
S ST TSI AUSR SANad | Iaraed ST, foega: e 3fa Imgde wo: 99 | STRa: Taasan
TRATSTA AR RS- AT STEAaH | T T3 TH: HEH_ STHT SThaed STefidl fepe Tied ARarey = |
3TRE; THAGATETE el Taa5aTH STIER: S, Aaa Ta=rsa : sT=a=i i ST ARaTST,
T ATEISOT TqHRTO SR 91 Foamorgi ool Jraa | 378 I ; HeRomad Sgalrg Sl | T : 9y Fawerqory
REREREET

‘TS’ oTe Wiy foess: W -

(A) T + Afg (B) TH: + 34
(C)wir + fg (D) wl: + fY
VR A & Id:?

(A)3q (B) 7aq

(C) 3T (D) 9

‘TR AT s HHEISTE -

(A) sgHife: (B) 3THE:
(C) ®HERA: (D)ss:
STNfAREAY TS AR -

(A)sfa (B) =
(C)ar= (D) T:
‘St s ot fawfe?

(A) g (B) fgdran

(C) woareit (D) Tt
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66.

67.

68.

69.

70.

71.

(39)

T or: renfafEd a=isr ufser UoAT: 66 d: 70 W1 WHILET: -

U =reHE e s e W T |

L G e s FRe IRa- g9 g =i ||
"Ry g HiERTE -

(A) a9 (B)
(C) To: (D) 3fs:

IR L NI T O Y

(A) gL (B) 7
(C) = (D) &
‘e 3 TS e -

(A) o (B) =re
(C) y&= (D) wferem
YelThs e B3] aiedd -

(A) F5asT (B) U=
(C) 3uifa: (D) vy

IRTETY 39T h: HHM:?

INECRIEICE (B) dcqeN:

(C) =igilfe: (D) FHERA:
TEIEAE YA RieorgE -

(A) TR Hfo i (B) N 3T Fidt
(C) farseiwond Tigersmi gfa (D) Sufia wal

P.T.O.
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72.

73.

74.

75.

76.

(40)

T e forgd-

1. YUSRAPR I TEashgd foTfaay-AmTu< TRl Hehaufea=i: Tafime = |
2. gt gy wan: g : vafa

3. AfoaTs fael SET g w6 : fowmr wafd |

4. A PR S FHEYLH |
(A) e 1, 4 (B) % 2, 4
(C)haai 1,3, 4 (D) 3uftad od

TEHRIE SR {8l : STTHRII-

(A) ¥ 3TEATYH: TV ARG TS et = faversot wfa
(B) 1&ATY: ATUAT: TEAH ThYhRoT A Hf |

(C) = ek fafergelen atfvia fopaa

(D) T T Bis: Aokt T3 fohara

Hfgarare ;, TgUTe SR TArT s e fasih wata-
(A) Trferefere (B) Frmmfas
OEEEE (D) TR

YT h&d Ta8l; Tt oM &9 SN0 31 TSeaHl I SEel giaadn vfaa ' ?

(A) FTHISd: (B) safmmafas:
(C) Fems: (D) 3teanefas:

TG IV I HHIS -

(A) HRTTH, TR, TG JRe(Hivm, g
(B) HoheTTH, ST, Wrefion, He, TR
(C) HehaTTH, ITEIT-THI0TH, SHeTE TR, HueH, TRghd:
(D) HeheTTH, HeTETIH, TEUIehTom, TRIGH:, T
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77. FIUEHH HRTIRHIGHI SR fo1eqol ol S Reofagia wata-

78.

79.

30.

31.

32.

3.

34.

(A) ArAfsFariaaan: fagm
(C) =eAfaursTa: fagma

o737 fowasrian: fom: 7 yre=a-
(A) SEgfmeTy
(C) IIHATTY

TS o ddid-
(A) = fdeony
(C) T T8 qREhom

T g -
(A) e
(C) sxa-71

‘Irer’ 3fd SRl s -
(A) S
(C) Tafercafearammg

A RIS TR AT TR o -
(A) TASHRATEAETRAT
(C) Ferfereroreanem:

75" S Tl TR TEATIS Tod -

11 : 45" 3R Fd HHd qHI A -
(A) TR FETY
(C) TS e

(B) shAMUEEN: fag
(D) T9arae fag

(B) GASHICHRITY
(D) FHeraeHeRITY

(B) Had Frierom
(D) Tt s forpen:

(B) 5=
(D) frHfq

(B) S fdfaT
(D) siifasrfaamm

LN

(B) forerrst=il mamia i
(D) TEista

(B) Tsagw
(D) Ts=He

(B) URMgEY dl&TH
(D) HIEETEY aeTq

P.T.O.
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85. WYX FATHRYT * 3T=" T foRgAToT T aad -
(A) I (B)T=a
(C) zm (D) v

86. ‘T’ 3fq ToEd=amul T Idd -

(A) H3TY (B) ST

Ok (D) 3T
87. ‘BHE: ward 14 fagfd’ saw e uiads $ed -

(A) BRI FHAHA T4 faafd (B) ST Sherd T feeard

(C) SE hetH T3 fered (D) BT hetd A T3 fered
88. *‘aferent el & =l i e Lt § 1" ST AT UERATAS: T -

(A) STifcTeht @ UG, (B) weifa

(C) sifeTent @AW ; UG L&l (D) SfeTepl: @RI : AUga AAd
89. ‘HIR: TacwN v g’ SR IS w9 vfasfd -

(A) 3R S & goumfd (B) 9IR: Tacw o geumfa

(C) BR: TagH o qoamfa (D) =IR: SasT & goumfa
90. oo T g | R T Qe Yok Sarsad -

(A) I=ir: (B) At

(C) vaq (D) =H:
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SECTION-IV
Qus -1V
MATHEMATICS & SCIENCE
Tfore wd foA
There are 60 questions all in this section.
All questions are compulsory.

THEUS H P 60 T T |
[ty AfEE ¥ |
5n+3 _6><5n+1
. -
91. The simplest form of 9xs 2.5 8
(A)91 (B) 19
(©) 10 (D) 1
5n+3 _6><5n+1
> ey ?
9x5"—2*x5" i wIE:
(A)91 (B) 19
(©) 10 (D) 1

92. Ifp=y(5y>-80), g =5y (y—4) then g =7
(A)y+4 (B)y -4
(C)y*—4 D)y +4
P
T p=y (5y*-80), g =Sy (y-H) Td =7

Ay +4 B)y-4
C)y* -4 (D)y*+4

93. The value of 3/(250047) - 3/(13824) is?

(A) 23 (B) 29
(C) 33 (D) 39
3(250047) — 3/(13824) 1 T &2

(A) 23 (B) 29
(C) 33 (D) 39

P.T.O.
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94. What will be the square root of (8 +2415 ) (8 -2\15 ) -

(A)1 (B) 2
©)3 (D)4
(8-+215)(8 - 2415 ) et enfeger B

(A)1 (B)2
©)3 (D) 4

95. Find the factor of (x* + 9y*— 6xy — 25a* )-

(A) (x—3y + 5a) (x—3y—-5a) (B) (x+3y +5a) (x+3y—5a)
(O)(x-y +52) (x +y-5a) (D) (x+3y - 5a) (x +y + 5a)
(x2 + 9y?— 6Xy — 25a?) I UGS J1d Hll-

(A) (x—3y + 5a) (x—3y—-5a) (B) (x+3y +5a) (x+3y—5a)
(O)(x-y +52) (x +y-5a) (D) (x+3y - 5a) (x +y + 5a)

96. If Linear equationis 4x+3y=28 and x+2y=12 what will be the value of x—y

(A)4 (B) 8
©0 (D) -5
g TR 4x+3y=28 T x+2y=12 B A x—y Tl A T LRN?
(A)4 (B) 8
(C)0 (D) -5

3 7 5
97. If Z of a brick weight is 3 Kilogram, then what will be the 70f its weight?
A 20 K B > K
(A) 57 Ke (B) ¢ Kg
C > K D b K
(©) ¢ Kg (D) 35 Ke
: 3 7 5
TREll 32 o YR A " EIE 3 TR 31 1 35 R > ToRaT BT -
20 5
(A) 57 TRt B) ¢ TRt

(©) 3 et (D) 5 Frcirm

P.T.O.
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98.

99.

100.

(45) Y

The selling price of an article with 16% profit is Rs.435. If the article is sold for Rs 330 then what will
be the percentage of loss.

(A) 12.25 (B) 13

©) 12 (D) 12.5

16% T4 W1 Teh o5 1 T5hd oo 435 T4 ¥ | AfS % Sl 330 ©IF T o= ST & a1 81 yfoera fohean
B

(A) 12.25 (B) 13

(©) 12 (D) 12.5

The 5% population of a city dies in an epidemic. And out of the remaining population, 8% panicked and

left the city. If the total population of the town is now 88274 then find the total population of the town in

the beginning.
(A) 1,21,600 (B) 1,01,000
(C) 99,800 (D) 84500

Teh Y& ol SHUEAT &t 5% FoRet TRt § 9o 21 S 8 | 3R o=t SHeet § 9 8% Haeh I8 SISl al
T | A FE 1 Fol STEEAT 3T+ 88274 B 1 YESTA T el ol ol SUEAT I |

(A) 1,21,600 (B) 1,01,000
(C) 99,800 (D) 84500
The difference between simple interest and compound interest (compounded per annum) for 2 years on

an amount of Rs.1000 1s Rs 10 Is. The annual rate of interest will be

(A) 5% (B) 6%

(C) 10% (D) 12%

1000 . T G TX 2 ST o TIEROT =TS STR <ehgfeg =TS (Wi oY Gaifsid ) ol 3R 10 %. ¥ | Afieh =aret o
SR

(A) 5% (B) 6%

(C) 10% (D) 12%
P.T.O.
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101.

102.

(46) Y

The ratio of two positive integers 1s 3 : 4. Their sum 1s 70. How much should be added to each integer so
that their ratio becomes 5 : 6.

(A) 10 (B) 20

(C) 30 (D) 40

1 GTH YUIThi T 3TTATA 3 : 4 2 | STaR! ANTHA 70 ¢ | Tk 0T § Toha 1 SIST ST =6 T, o el STgura
5:68 S|

(A) 10 (B) 20
(C) 30 (D) 40
If PO L PS,PO || SR, ~SOR =28° and ~QRT =65° so find the value of y -
2 T Q
28°
y
65°
S R > T
(A)37° (B) 53°
() 27° (D) 43°
Il PO L PS,PO || SR, ZSOR =28° AU LORT = 65° Al y Sl | I A |
2 T Q
28°
y
65°
S R > T
(A)37° (B) 53°
() 27° (D) 43°

P.T.O.
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103. If a die 1s thrown twice, what is the probability that the sum of the digits on it is not 10?

1 1
(A g B) 5

11 8
© 3 D) 5
foRet TTd BT <1 AR ek ST R 3 UR ST TGl 37RT ST AT 10 7 3T <kl WIfarshdT 1 7 -
A5 ®)

11 8
© D) 5

104. Find the odd one out from the given figure-

(A) £200T & ZTOP equal complementary angles (B) ~POR & ZROQ unequal complementary angles

(C) ZROQ & ,Sop verttically opposite angle (D) £00S & SOT adjacent complementary angle
e T fom ¥ orgm wifed-

< >Q
(A) £Q0T q LTOP ~HHH TFYLH 10T (B) ~POR & ZROQ -3THHM HYTh hIUl
(C) ZROQ & /S0P~ il (D) £00S T /SOT ~3TF~ TFGTh HIvT

P.T.O.
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105. In the given picture ZRPS = ZRPQ & £PRS = /PRQ then APOR =?

N

(A) ASPR (B) APSR
(C) AQPR (D) Not Congruent

AR a3 ® LRPS = ZRPO QA /PRS = Z/PRO MAPOR =?

N

(A) ASPR (B) APSR
(C) AOPR (D) Tatem Tt

P.T.O.
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106.

107.

108.

(49) Y

A 20 meter diameter well is dug to a depth of 14 meter and the soil extracted from it is spread around it
to a width of 5 meter to form a platform, the height of this platform will be?

(A) 10 meter (B) 11 meter

(C) 11.2 meter (D) 11.5 meter

20 e SATH STl Uk F3AT 14 HieX Toh i TS qeh WY ST § 31 388 fHepreft 1 fiedt 31 39 =R 371 5
THex T <ierE o el Teh <Ie[qd ST ol ST § 3 <[l 1 Sl 2t 2

(A) 10 T (B) 11 #iex

(C) 11.2 Wi (D) 11.5 X

The parallel sides of an isosceles quadrilateral are 25¢cm and 13c¢m. Each of its equal sides 1s 10cm, what
will be its area?

(A) 152 cm? (B) 154 cm?

(C)304 cm? (D) 76 cm?

Teh TG g THET =SSt ! THRR o 25¢m 9 13cm & | S9! Jeieh THM o 10cm T ST &%a o
B2

(A) 152 cm? (B) 154 cm?

(C)304 cm? (D) 76 cm?

Ifthe figure (millions) to be represented graphically on the y-axisis 1.6, 2.4, 1.2, 2 and 1.6, then what is

the above scale to represent one unit? Will happen

(A) 60 Thousand (B) 80 Thousand

(C) 40 Thousand (D) 50 Thousand

IS y -7 WATEE T H TSR fR3 <9 1) 31iehs (@) # 1.6, 2.4, 1.2, 2 791 1.6 ¥ 0 T SHE I H2fdiq
X o TeIT Sufa |9 (Thet) I T

(A) 60 SR (B) 80 &SR

(C) 40 TSR (D) 50 TSR

P.T.O.
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109.

110.

(50) Y

If the mean of a class is 43 and the class interval 1s 16, then the maximum limit of the class will be.

(A) 35 (B) 49
(C) 27 (D) 51
fopelt =Rt 1 Team 43 § e afetaa 16 € ot o ot 3tfersha™ S 2Rt |
(A) 35 (B) 49
(C) 27 (D) 51

The given pie chart shows the marks obtained by a student in Hindi, English, Mathematics, Social Science

and Science in an examination. If the total marks obtained by that student was 540, then in which subject

Social
Science
65°
Math 80°
9()° ‘ Science

(A) Hindi (B) Mathematics

(C) Social Science (D) Science

o e wiE = ue forenedt g ot wlien § fe, Sish, fowa, wtsen foam SiR fomm § wrwt ford T et
o < ¢ | afe 39 forameft <am ura ford T et ik 540 9 o forw fawrr # foremeff 7 105 37w ford |

did the student get 105 marks?

(A) fe=t (B) Tfora
(C) 9. fore (D) fomH

P.T.O.
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I11.

112.

(51) Y

L. In the tally mark 9 1s represented by [} |]||-

I1. The difference between the maximum and minimum values of the data is called the range.
Which of the following is true-

(A)Only 1 (B)Only 11

(C)land Il both (D) NolandNo Il

. T T o 9 &1 | ||| ST =9 Ld 2 |

I1. 3RSl o AT o =IATH T o TR I T HgT S ¢ |

i aa®-
(A) o [ (B) Faa I
(OGN ERKE OEIEED

If O 1s the center of the given circle and £BAO =30°and £BCO =40°1s so ZAOC find the measure of-

B
A 30° 0 40° C
(A) 60° (B) 70°
(C) 80° (D) 140°
I T I R EFR O T AU LBAO =30°F LBCO =40°T A LAOC Tl AT J1d Y |
B
30° 0 40°
AP Ne
(A) 60° (B) 70°
(C) 80° (D) 140°

P.T.O.


https://www.print-driver.com/?demolabel-en

ST-2

113.

(52) Y

If a regular polygon has each interior angle of 150°, then what is the number of diagonals in it?

(A) 54 (B) 108

(C) 20 (D) None of these
ToRelt THEg S 1 Uk ST:3hI0 1500 B O S8 vl ol e fohat it 7
(A) 54 (B) 108

(C) 20 (D) 399 ¥ &g &1

114. With respect to the nature of mathematics which one is not correct -

115.

(A) Mathematics is logical

(B) Mathematics is non-specific

(C) The scope of generalization in mathematics is wide.
(D) mathematics 1s abstract in nature.

IO S Whid ok T T T8 R ¢ -

(A) TfoTe ifeheh 2t &

(B) Tifora erfarfirse &t &

(C) T H TTHT=ATSRT0T T & M9k BIaT &

(D) TfoTd 3T 2t §

Which one is not a problem solving skill in mathematics.

(A) to memorize (B) to interpret

(C) using variables (D) viewing patterns
o H I9 g LT A P TG -

(A) e HET (B) ferer=mT st

(C) =R I TIRT AT (D) 9fd&q S&H T

P.T.O.
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116.

117.

118.

(53) Y

. . . I.
Which teaching aid/methodology would you use to explain that 518 smaller theni

(A) Number chart (B) Dennis Block

(C) abacus (D) strips of paper
+.- 5 B & o T o fore el fore el o b e e -

(A) T=AT = (B) SEHH i
(C) 1o/ (D) SISt sl wfeedi

Which of the following statement/option 1s incorrect?

(A) Assessment helps in building effective curriculum

(B) Evaluation is objective-centred

(C) Assessment provides intellectual guidance in the teaching-learning process
(D) The process of evaluation focuses only on the subject matter

o & & e Her/foshed Tad 872

(A) eI FTel UISishd frfor e § Heg iar &

(B) eaioh S53%9 Hi=d 2l ©

(C) Tearer faagor stferm fsran # difge Ariee WoM e €

(D) Jodieh ht Ufsha hae fome oreg W hisd gl §

'Mathematics 1s the door and key to science.' Who gave this definition?

(A) Carl Friedrich Gauss (B) Comte
(C) Roger Bacon (D) Hogbain
“wifr for o1 GR T it © 1 A wfr fore @2

(A) =d Trsien T (B)

(C) TSR skt (D) Bt

P.T.O.
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119.

120.

(54

The false statement regarding the language of mathematics 1s-
(A) Statements in mathematics are always unambiguous.

(B) The language of mathematics is simple and concise.

(C) The language of mathematics is rhetorical.

(D) The language of mathematics is international or universal.
TIOT St T o e B ST e © -

(A) TIOTG H e TERn STEH BN ¢

(B) 7T =T AT TR & Hierd Sl 2

(C) T <t TS STcTehIfh BIt € |

(D) 7Iford Y T ST A1 Wl odifhes Sl ¢ |

The purpose of diagnostic test in mathematics is not -

(A) To remove the difficulties in understanding the concepts of mathematics
(B) To know the difference in understanding of children

(C) preparation of progress reports

(D) To do remedial teaching of children

TfoTd H =T qeTor 1 38 TRl © -

(A) TR 1 STEEIROTET A § A Al HEE

(B) SI=di shl THE H ST ol ST

(C) wfa fdre TR et

(D) STl o1 SUARIH TI&101 hEAT
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121.

122.

(35)
Match List I with List II-
List- 1 List - 11

(a) Rhizobium 1. Formation of curd
(b) Yeast 2. Malaria agent
(¢) Protozoa 3. Bakery Products
(d) Lactobacillus 4. Fertilizing the soil
Code-

a b C d
A 4 3 2 1
B) 3 2 1 4
© 4 3 1 2
M 2 1 4 3
T [0 =T 119 Gl hifsie-

il g1

(a) TsshfoH 1. 71 fmio
(b) Fe 2. HIlAT Ik
OREEIEN 3. SR SCUI]
(d) TTRSfaerd 4. T < SYSIIS ST
Fe-

a b C d
A 4 3 2 1
B) 3 2 1 4
© 4 3 1 2
M 2 1 4 3
Which of the following is an example of a tap root plant?

(A) Maize (B) Mango
(C) Sugarcane (D) Onion
71 o | IS A Y 918 H SSRL 87

(A) Hert (B) 3
(C) = (D) wrst
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123.

124.

125.

126.

(56) Y

The acrosome of sperm during spermatogenesis formed by....

(A) Mitochondria (B) Golgi apparatuls
(C) Nucleus (D) Vacuole

Y[Rl S T YhTY] % Tshram o Tt fhad grar 82

(A) EZTRITTSaT (B) Titesirshrat

(C) F5H (D) fife

The pathogen of 'Kala-azar' disease 1s-

(A) Leishmania donovani (B) Entamoeba

(C) Plasmodium (D) Female Anopheles
‘Tt 3T T A AR B -

(A) TieHfE SHET (B) GeaTHian

(C) wisHIfeaH (D) =T TS

Which of the following is anomalous-

(A) Pituitary gland - growth hormone (B) Adrenal gland - adrenaline hormone
(C) pineal gland - oxytocin hormone (D) thyroid gland - calcitonin

1 T | i ST B -

(A) e i - g i (B) Tgia Ufer - T g

(C) Tafaa TfY- eI g (D) gPRIES i - RicHet=

Where does ultrafiltration take place in the process of urine formation?

(A) Glomerulus (B) Renal tubule
(C) Collecting duct (D) Ureter

T oo <61 whsmen B R ol T A 37

(A) THETH (B) o= fetent
(C) e Afereht (D) gatett
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127.

128.

129.

(57)
What is fruit sugar called?
(A) Fructose (B) Lactose
(C) Galactose (D) Maltose
e Tehd R Ed 7
(A) RISt (B) @RS
(C) 7RIS (D) Hrerst

Which of the following is not a secondary genital organ of female?

(A) Vagina (B) Ovary
(C) Uterus (D) Oviduct
et 3 s e i1 fefiorss st e §2

(A) A (B) 3iERME
(C) e OEEEIE
The false statement regarding the "action-reaction" rule is-

(A) Every action has a reaction.

(B) The forces of action and reaction are equal.

(C) Mutual equilibrium of action-reaction forces 1s possible.
(D) The forces of action and reaction are opposite.

*foran wfafsren '’ frram o e H ot e -

(A) T3 fsham =t wfafsran gt

(B) fsran-wfafsrar & st SR 31 € |

(C) fsran-wfafshan st ol TReR g 99 € |

(D) feran-wfaferan % o faadia e € |
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130.

131.

132.

133.

(58) Y
Electrical energy is convert into sound energy by-
(A) Electrical Cell (B) Microphone
(C) Loudspeaker (D) Solar cell
e ol 301 sAfi St & ffia e -
(A) o o (B) HIEshIhH
(C) TSR (D) Hier’ ¥

The amount of heat required to change the state of a substance at a constant temperature is called-

(A) latent heat (B) specific heat

(C) working heat (D) converted heat
o e o ot e 6t erareen Uitad ¥ ST SOAT shi [T i hed & -
(A) T8 ST (B) fafire S

(C) ekt AT (D) uftafda s

The phenomenon is not based on refraction 1s-

(A) twinkling of stars

(B) Appearance of the sun till some time after sunset

(C) the raised appearance of the bottom of the swimming pool

(D) becoming an image in the mirror

U R SN w1 T §-

(A) IR <1 fenfedrn

(B) TARE % F WU 91 T YA 1 f@ms =1
(C) faftin ga & U3 o1 30 3e1 g T
(D) T9o1 # fferst s

The sound energy passing through a unit area in one second is called-

(A) intensity (B) loudness
(C) frequency (D) pitch
Teh Tehs W Tehich S%el O ToRA ATl a1 Soit ol hed & -

(A) st (B) ettt
(C) sTgfa (D) R
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134.

135.

136.

(59)

True with respect to alternating current generator-
(A) The direction of current changes regularly.
(B) The direction of the current remains constant.
(C) The value of the current remains constant.

(D) The rotation of the current remains constant.

TATEd SR S % eie § e §-
(A) urr &t feen Fafia & 3 seed 2|
(B) & =i foem foa @t & |

(C) R 1 HH T war € |

(D) =T <l FUA T war g |

Formed by the polymerization of ethylene glycol and terephthalic acid forms-

(A) Polyethene (B) Dacron
(C) Rayon (D) Arlon
Tl TTgeRiel 9 SdifeTeh 3Tt 3 SIgelioheoT § ST § -
GRS (B) S
(C) @t (D) SR

Which two planets have the opposite direction of rotation to the Earth?

(A) Venus and Mars (B) Venus and Mercury
(C) Mercury and Arun (D) Venus and Arun
fort 21 &1 oY it it farwn gest o Rty 1 fewn % faada 2

(A) 6 I T (B) WA

(C) IU T 3% (D) T = 720

P.T.O.


https://www.print-driver.com/?demolabel-en

ST-2

137.

138.

139.

(60) Y

Consider the following statements and select the true statement(s) :
1. All atoms are electrically neutral.

2. The nucleus of an atom is made up of protons and electrons.

3. The size of the nucleus is of the order of 107> m.

(A) 1 and 2 only (B) 1 and 3 only
(C) 1 and 3 only (D) 1,2and 3
1T el W) fora ot Scd sher/ame shl =Ia hifsTg-

1. ot TR foegd &9 ¥ IS B € |

2. qLAY] 1 AR TS 9 Saiae § o1 311 € |

3. ¥ T SRR 10" m St Fife 1 ST ¢ |

(A) I 192 (B) kol 179 3
(C) koIt 2 9 3 (D)1,293

The chemical name of bleaching powder 1s-

(A) sodium hydroxide (B) calcium oxychloride
(C) sodium chloride (D) sodium bicarbonate
fartster <ot o1 TEmfes T 2 -

(A) HifsaH TSRS (B) W SaiaiNES
(C) B Tl (D) B = e

What is the main component of LPG?

(A) butane (B) methane
(C) mercaptan (D) propane
L.P.G. 1 J& 5% Il &7

(A) = (B) faer
(C) meha (D) W
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140. Through which technique cheques are checked in banks?

(A) MICR (B)OCR
(C) OMR (D) Scanner
Senl H =h TR g TR % TTETH 9 Wi 9 § 2

(A) MICR (B)OCR
(C) OMR (D) Scanner

141. Who gave the theory of inheritance of acquired traits?

(A) Mendel (B) Darwin
(C) Lamarck (D) Gardner
IUTSIa A&l <kl SRIrTld skt fogia forer fean?

(A) Hed (B) S1feiA
(C) Tk (D) TER

142. Which of the following gas does not show green house effect?

(A) methane (B) carbon dioxide
(C) Argon (D) Destroyed

T B | =it T e Ra e g el <t 82

(A) Hi& (B) e SEHTFIES
OELE (D) CFC

143. A student demonstrates by constructing a frequency table according to the given data. It represent which
cognitive objective of the student?
(A) knowledge (B) comprehension
(C) Applications (D) Synthesis
e feramet U U tiRSl % STTER SRERAT ROTt 6 fmior ek gefiia wiar © | 9 fomneft % o damees
32V I S -
(A) (B) s
(C) erggrarT (D) FeTs
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144. Which one is not a objective of affective domain?

(A) Response (B) Valuing

(C) imitation (D) organization
elTcHeh UeT I 3evT T 7-

(A) TIfFa (B) ST
(C) STFHT (D) WM

145. The true statement regarding the nature of science is-

(A) Science is stable (B) Science is progressive
(C) Science is static and dynamic (D) Science is only a product,
o= T Wehfa o Trs § T HeH B -

(A) fom feer & (B) foam et €

(C) fomm feer = Tifcwetiar @ (D) T Sad 31 € |

146. Assessment as learning in science means-

(A) Summative Assessment (B) Formative Assessment
(C) Session Assessment (D) Self Assessment

foram & wiem % w9 H sTeRe 9 a0 8-

(A) IRTHE TRt (B) ToHTcHh Thal

(C) ¥ et (D) T STRaT

147. Which of the following is not developed by science

(A) Impartiality (B) Scientific Aptitude

(C) Scientific approach (D) permanent mental attitude
frefafead # 3 formen faem faam & g Sar g

(A) frozemar (B) a=fen sifgfa

(C) s gfteshor (D) Ferrdt 7 Hfa
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148. Which color box should be used for inorganic waste material while handling domestic waste?*

149.

150.

(63)

(A)Red (B) Blue

(C) Green (D) Black

BT e R Je G A A TSI sTafers uared T foRd I % fesst w1y e =nfeu?
(A) e (B) e

O = (D) it

Doing other work related to agriculture along with agriculture sector is called?*

(A) Mixed Agriculture (B) Mixed Cropping
(C) Crop rotation (D) Allied agriculture
it &1 % T BT F e 311 Bl BT el § 2

(A) Tafya =iy (B) fafya wee

(C) o =ik (D) TR hiT

How much force would be required for an object of 2 kg. mass to accelerate 8 ms=?

(A)4N (B) 32N
(C) 16N (D) 10N
2 ToRTIT. S SITel! g, Rl 8 ms o @IRUT § @RA L 8q fha ot i STEwEhdl 3RT7
(A)4N (B) 32N
(C) 16N (D) 10N
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